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VC id="100366-677">
<SN>100366</SN>
<TDate>2016-06-08</TDate>
<TFime>09:44:22</TTime>»
<Title>
</Title>
<loc>
</loc>
<STATUS>

<typ>33<ftyp>
<Date>2016-06-08T09:45:32</Date>
</STATUS>
<pdf>VC160608094422.pdf</pdf>
<DG>
<SN>100366</SN>
<TDate>2016-06-08</TDate>
<TTime>09:44:24</TTime>
<Ver>3.02</Ver>
<Title>
</Title>
<locs
</Loc>
<STATUS>
<typ>33</typ>
<Date>2016-06-08T09:45:32</Date>
</STATUS>
<Version>
<PIC>3.03</PIC>
<Modem>2.6</Modem:>
<Quest>2.2</Quest>
<fVersion>
<Temps>
<5C>
<value>48.9</value>
<min>44.0</min>
<max>52.0</max>
<f5C>
<BT>
<value>48.1</value>
<min>38.0</min>
<max>530.0</max>
</BT>



</Temps>
<Volts>
<Lamp>
<value>2.35</value>
<min>1.46</min>
<max>3.42</max>
</Lamp>
<Cooler>
<value>1.99</value>
<min>1.10</min>
<max>2.58</max>
</Cooler>
<Bias>
<value>81</value>
<min>48</min>
<max>112</max>
</Bias>
<Chopper>
<value>576</value>
<min>475</min>
<max>575</max>
</Chopper>
<Barometer>1013.5</Barometer>
</Volts>
<Pump>
<Flow>
<value>4.693</value>
<min>3.500</min>
<max>6.500</max>
</Flow>
</Pump>
<Detector>
<PmpOnMax>0.133131</PmpOnMax>
<PmpOffMax>0.134757</PmpOffMax>
<PmpOnMin>0.131911</PmpOnMin>
<PmpOffMin>0.133537</PmpOffMin>
<PmpOnMaxDiff>0.010000</PmpOnMaxDiff>
<PmpOffMaxDiff>0.010000</PmpOffMaxDiff>
</Detector>
<Filter>
<f1>0.134</f1>
<Z1>True</Z1>



<f2>0.831</f2>
<Z2>True</72>
<f3>0.892</f3>
<Z3>True</Z3>
</Filter>
<Xg>
<Val>261.79</Val>
<Off>0.53</0ff>
<Max>4.00</Max>
<fXq>
</DG>
<diagPass>False</diagPass>
</VC>



VCid="100366-677">
<SN>100366</5N>
<TDate>2016-06-08</TDate>
<TTime>09:44:22</TTfime>
<Title>

<VCid="100366-677">
<SN>100366</SN>
<TDate>2016-06-08</TDate>
<TTime>09:44:22</TTime>
<Title»
</Title>
<Loc>
</loc>
<STATUS>

<typ>33</typ>
<Date>2016-06-08T09:45:32</Date>
</STATUS>
<pdf>VC160608094422.pdf</pdf>
<DG>
<SN>100366</SN>
<TDate>2016-06-08</TDate>
<TTime>»(9:44:24</TTime>
<Ver»3.02</Ver>
<Title>
</Title>
<Lac>
</Loc>
<STATUS>
<typ>33</typ>
<Date>2016-06-08T09:45:32</Date>
</STATUS>
<Version>
<PIC>3.03</PIC>
<Modem>2.6</Modem>
<Quest>2.2</Quest>
</Version>
<Temps>
<5C>
<value>48.9</value>
<min>44.0</min>
<max>52.0</max>
</SC>



<BT>
<value>48.1</value>
<min>38.0</min>
<max>50.0</max>
</BT>
</Temps>
<Volts>
<Lamp>
<value>2.35</value>
<min>1.46</min>
<max>3.42</max>
</Lamp>
<Cooler>
<value>1.99</value>
<min>1.10</min>
<max>2.58</max>
</Cooler>
<Bias>
<value>81</value>
<min>48</min>
<max>112</max>
</Bias>
<Chopper>
<value>576</value>
<min>475</min>
<max>575</max>
</Chopper>
<Barometer>1013.5</Barometer>
</Volts>
<Pump>
<Flow>
<value>4.693</value>
<min>3.500</min>
<max>6.500</max>
</Flow>
</Pump>
<Detector>
<PmpOnMax>0.133131</PmpOnMax>
<PmpOffMax>0.134757</PmpOffMax>
<PmpOnMin>0.131911</PmpOnMin>
<PmpOffMin>0.133537</PmpOffMin>
<PmpOnMaxDiff>0.010000</PmpOnMaxDiff>



<PmpOffMaxDiff>0.010000</PmpOffMaxDiff
</Detector>
<Filter>
<f1=0.134</f1>
<Z1>True</Z1>
<f2>0.831</f2>
<Z2>True</Z2>
<f3>0.892</f3>
<Z3>True</73>
</Filter>
<Xg>
<Val>261.79</Val>
<ff>0.53</0ff>
<Max>4.00</Max>
<fXq>
</DG>
<diagPass>False</diagPass>
</ VC></VC>



